Answes

1. Using the graph below:
a) What is the cost per t-shirt
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2. Supernet announces its Internet rates in the following advertisement:

Unlimited access to the Internet

First month: $10

Subsequent months: $30 per month

Circle the table of values represents this situation.

A) Time (months) [0, 1] [2, 3] [4, 5]
Total () 10 70 120
B) Time (months) 10, 1] 11, 2] 13, 4]
Total ($) 10 40 100
C) | Time (months) 0.5 3.5 4.5
Total ($) 10 100 100
D) Time (months) 0.5 2.5 5
Total ($) 5 85 160




3. The step function graph below is in increments of 1 on the x and y axis.

y

Answer the following questions:

a) What is the length of the step? | (nctemen

b) What is the value at f(0)? _E{{A

c) What is the value at f(1)?

d) What is the value at f(2)? I '

e) Whatis the value at f(-4)? __ —~

f) Whatis the value at f(-1)? __ — 2



4. Answer the following questions using the step graph.

Athletic Event Starting Times (by Age Bracket)

TIME 4
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a. How many hours separate the start times of an 8 year old and a 15 year
old? hou(s

b. What is the maximum age an athlete is allowed to participate in an
event? Explain your answer.
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c. Do 10 year old and 11 year olds have the same start times? Explain your
answer.
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5. Students in a French course are pen pals with students in Europe. They wish to
know the cost of mailing a letter overseas.

Using the following table of values, construct a graph to represent this situation.

Mass Mailing Cost
(grams) (S)
10,50LC

0 < mass <50 0.75
50_ < masg <,125 1.25
11:55 mass < 200 2.50
200 < mass <3"25 3.75
325 < mass l:"lajsq 5.00

Cost of Mailing a Letter Overseas
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Step Functions
Rachelle George-Bernard

Question 1 Question 2
Two house painters charge customers based on the area  Sketch the function represented by the table of values
of the walls being painted, but each follows a different below.

pricing model. The graph below compares the two
painters’ pricing models, with Mathias represented in md

and Jufia represented in blue. e \) (Sray’
(Sey Yt \ :\ X [y
Based on the information in the graph, which painter
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Question 3 Question 4

At Green’s Nursery, the cost of purchasing a lucky The pricing guides for two different cellphone companies

bamboo plant is dependent on the height of the plant. The  are represented in the graph below, where cost is

graph below shows the cost calculation, where x calculated based on data usage. Rover’s pricing guide is

represents the height of a stalk in inches and y represents  represented i in red and C:m'me s is represented in biue

the total cost in doflars. (skps)
Based on the mformatlon m the graph, which company

Explain the pricing plan used at Green’s Nursery. offers a better deal?

Cost (3) Cost ($)

Height (in) 1
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Question 5 Question 6

The pricing guides for two gardeners are represented in Determine the x-values of the function below when y =7 .
the graph below, with Theo in red and Fatima in bive.
Both gardeners charge based on the amount af time spent
working at a client's house. \

\ep )

Based on the information in the graph, which gardenéf
offers a better deal?

Cost ($)
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Question 7 Question 8

Eli's Gym offers a discount for new members so that if Evaluate 7(3) in the step function below.
they join for a month or less, they pay only $30. Each :
month or part of a month after that is charged at $50.

This situation is represented on the graph below but with

one eror. |dentify the error and state the correction that 4
needs to be made in order for the graph to accurately {5
represent the situation.
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